
Dados experimentais: Solução aquosa padrão de sacarose 
Concentração da solução 

(g/100 mL) 
Massa do 

picnômetro 
Medida 1 (g) Medida 2 (g) Medida 3 (g) 

5,110 Vazio 20,730 20,730 20,730 
Com solução 52,569 52,573 52,575 

10,001 Vazio 20,730 20,730 20,730 
Com solução 53,145 53,146 53,147 

15,042 Vazio 20,730 20,730 20,730 
Com solução 53,794 53,795 53,799 

20,106 Vazio 20,730 20,730 20,730 
Com solução 54,447 54,452 54,447 

25,002 Vazio 20,730 20,730 20,730 
Com solução 55,053 55,052 55,059 

30,036 Vazio 20,730 20,730 20,730 
Com solução 55,676 55,682 55,681 

 

  


